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Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two_or more circles will result no mark.

N SECTION-A Ui~ WL ~/—2Y
Q.1 Questions / =tiy A B c D
| 4 D T ¥ WAL e
|7 " | Asimple example of cybercrime ig---------- s Encryption Copy right Piracy Hacking
|, T — Ut ofls HTML 9 q e 6
I There arg ---------- types of headings in HTML documents.
I o ?gz_fng}?/,_,.)"!Zﬂ’ﬂ{}ngug 4 6 8 10
‘» "_| A password contains how many words at least? B
| 4 B <> <table > <tM> <tS>
N tag is used to display data in tabular form.
| 5 e BT S omreeae PRy ) et U e Ak
| " | Router connects many ---------- with each other. Protocols Channels Networks Addresses
6 , , S eI 2 LS FIP HTTP sTP SMTP
| Which protocol is used for email?
7. ) ) pu.?dﬁdiuyt./:&""{' 4 &@ 8 10
How many bits are there in 1 byte?
g TR — Gy s (Op UecRiog L3 3
" | Data to a processor is provided through ---------- ; RAM . ~4\ < ROM U.s.B Hard Disk
" T =l O Ut _.,%x S L = P,
In flowchart symbol < is used to show a/an---------- y P (l@ Decision making Process Connector
10. -93&%@[@&’5&/ %{FV&} A el rtb").’-”'
In trace table, each row represents: & me ofdata | Columnnumber | Value ofdata | Name of tabie
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Marks: 40  Time: 1:45 Hours Subjective Paper () 4081 2145 28y 4014 l g l i g .
Note: Section B is compulsory. Attempt any TWO questions from section C. -é/_ ;’ .:.guz&..-,mruc_éfau:f v e S i .
SECTION-B /».>» St ~) —24
2. Write short answers to any FOUR parts. (4x2=8) BE Y Oy Y v
i. Explain the pﬁrpose of defining a problem. ~z~’ugf.yﬁ*w:;£p i
ii. How do we use trace table in debugging process? ?‘Ltnt)w'c_"&lﬁ/‘m}“L(debugging)ﬂ_s i
iii. What is the purpose of using terminal symbol in a flow chart? S Qnded Lad S amp o2t ii
iv. Explain the concept of ‘divide and conquer rule’. v _%{y&,Jd,‘lL‘;)@/;l,/f?’ v
v. Define HTML. vi. Write down the general structure/syntax of paired tag. 22, /J-c’ / ;,C/J 2 B i -é/u'y/g SHTML v
4. Write short answers to any FOUR parts. (8x2=8) i felF Laakedf 3
i.  Write down the procedure to convert decimal number to binary number. _54;’.23}’5’L/J4;ut/dtff/d/u‘1 i
ii. Convert(69610):0to Hexadecimal. e ASHE 6961000 i
iii. Describe truth values. iv. Construct truth table for NOT operator. _2__.@,‘_}.3 j/‘g 4TNOT v AR TIPS
v. Define online piracy.  vi. Describe DOS attack. ok HID0S i ZEy AT v
4. Write short answers to any FOUR parts. (4x2=8) e Lanke 3
i. Describe use of FTP protocol. U FTP
ii. Define IPV4. iii. How does Web browser work? St /LA s i ZE oy Spva i
iv.  Which type of connection is used by Wi-Fi? Define it. O IE e t S, A Sneadidn i
v. Write down a code to insertimage in HTML.  vi. What is anchor? e i vi @A LGP EETML
(Attempt any TWO questions, canying 08 marks each) SECTION—Q«W (A 08 L st fUirne (5
5. :lvﬁ\g g;i: n);glljer'neasure the efficiency of an algorithm? Explain %&wfé&u:a Jec Ly 7. 4 JJL:“ ST iS r;r/ J._T,T 5
6.  Explain Bus and Ring topology. @) -é&u:nfd’-)’l;‘fz sl -6
7. Write down the characteristics of a good password. %S 8 e Saud 7
@ 25-124-1A-19000
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You have four chaices for each abjective type question as A, B, C and D. The choice which you think Is comect; fill that circle In front of that question number in your answer book. Use marker or pen to fill the

v’/ circles. Cutting or filling up two or more circles will result no mark.
/ SECTION-A Ji.o Lol —2 2y
Q1 Questions/=ix A B c D
1. 19.(2)(!..{"/((‘):(;’/’%:_{ L/CZ'_IJJ-?’U L/r:l"‘u»i /G » Vy
Communication protocols cover: Authentication Error detection Correction All of these
5 PR T) R IAIMAC R IAIIP N7
" |Every data packet hasa/an = Computer address| MAC address IP address Home address
S G IS O e FL N SSn ISy | bt | GpaddT | iAol
3. Which of the given is not the characteristic of Official data Email account “IT reminder Similar domain of
phishing emails? breach notification update actual website
T CCTV| pripysi ; - Closed Circuit .
4, CCTV stands for . - Circuit Television | Real Television Television Closed Television
5. -wa‘nﬂf‘}f - ..---_ut.w[s;mML 4 5 6 7
There are types of headings in HTML document.
6. DY T 5 Su— <i> <b> <u> <br>
tag makes text bold.
; -uﬁ(gc‘-;ﬁfdpqrw’&l’fg.g_fﬁfg ..... \f-'éu',;; /ij B _‘u(g)ﬁ
. o means to test if the required solution is there Verification Algorithm Validation Flowchart
. S ST e urben LE Mt ] WBobors iU ;IL@\\)@EL%‘;M Lo dernt
*litis the data that does not comply with the input ; :
requirements of the Algorithm: Absent data Boundwt ta| Valid testdata Invalid test data
-“—_L"n/.l/.ﬁ----._‘f’ 173 2 {@} 4 ]
9. 1 Petabyte Is oqual to; (1024)" bytes < bytes (1024)" bytes (1024)" bytes
I O ¥
18 The decimal value of letter “A” is M’ 64 65 66

<

WA (o

O@@

760

26-124-1A-16000 * % * %

éﬂ;ﬁi’/(&.ul{{, ___________________ .




Computer Science Groupzzgﬂ SSC(9")1**Annual 2024 Eiin.
S Maiws:40 Time:1:45 Hour Paper-I Subjective d(;'y Iz, 5[1;45;5, 40;/_/' t/»:.?,,/ S,
Note: Section B is compulsory. Attempt any TWO questions from section C. _é;}auié_aﬂln:cdféufrfr/,q,diﬂfu,i:._‘J
SECTION-B 1.~ Sttl_~2 ~
2. Write short answers to any FOUR parts. (4x2=8) E e AL e M 2
i. How will you test algorithm by employing invalid test data? ?qu;éa_fffz,mé;ni_)vb;lm_‘/fuu bt
ii. What is absent test data? ?c‘_t'n__brlf;f;,fl_/_l_}ﬂ(./‘ i
iii. What do you know about “Draw a picture” strategy? S TR AL «f it il
iv. Write down two advantages of flowchart. _’AF)-’U.»L-:«JQ_”G v
v Define hyperfink.  vi. Why the <body> tag is used in HTML? e tblU1us/ B<body> SXHTML vi 25y FU_6 2, v
3. Write short answers to any FOUR parts. (4x2=8) -z»f_-’/_jayz/“?z:azug;é/ 3
i. Convert (1A9), to decimal system. ii. Explain Binary Number System. -af_-»u,-J(le-f.ii ZY /:;u:{‘@d/l;r‘l}(('IAg)m i
iii. What is meant by “computer memory"? iv. Explain “OR” operator. -é.‘;&wj}.{j “OR” .iv Sest o "Gast 2ol i
v. Explain patent. vi. What is meant by “phishing” ? S« /U "B vi AT S
4. Write short answers to any FOUR parts. (4x2=8) ,ég,?.-,w,‘"”é,muga,éf 4
i. Describe the application sharing with example. -é{fl,c_g)l‘/f_f}:ffﬁ%ﬂ i
ii. How is computer network helpful in user communication? ?q_lb’:»‘é_fdcﬁg}:"/}g_ﬂ,\.‘é}x{ i
iii. Why is 'router' important for internet? Selnfudd Lo pi'2s) i
iv. Compare the server and client system. -ééf'f(f/dlfl""/ Jdv
v. Why is rowspan used in HTML? ?T-l"?gu!:rdb’}’(fmﬂ”'ﬂvﬂd v
vi. Write down the output of given HTML code: <html> :é/_fw,_',ﬂ'ijHTMl_,zzfj o

<body> <ul>
<li>coffee </li>
<li> water </Ii></u|></body>@

SECTION-C /»

Note: Attempt any TWO questions. Each question carries Eight marks. @) _uZ/'il'Ldlr/,ég/’:al,lligmn:a(}f:_b}
5. How do you determine the formulation of an algorithm? <& i‘ugz_fc/:”d_/ﬁ):@ J;"{zﬁ'—;" -5

7. What is Cyber Crime? Explain any three of its types. -& cw‘ti’!d/,fu’ufdd!(kfw?egr‘;’//fl/ 7

@ 26-124-1A-16000
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8.  Whatis network topology? Explain ring topology with a diai@ —é»")L}!Lr'ﬁ'}‘J&J'{;jJ?{—L‘(&:’;L{/M—J _6
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Time : 15 Minutes /"~ Giii) w15 oy iy
Marks : 10 N | Paper Code | 5 [ 8 |3 | Stal- /- 2.2 10':?«". Vs

=) /4;@ L LAl L g e ne P sihd ol iy ,,4&@745:_‘14&,, Dal C,B,AMELNL g -:..u/'
-(ﬂ;r" Wols u!}’U-’-u/}'del/u' L L—/l fUJ/l:o:LJL...Q‘ ’
Note: - You have four cholces for each objective type question as A, B, C and D. The choice which you think Is correct:; fili that circle In tmﬁ:of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result ng ma*

SECTION-A ()i.»

e L

—

Q.1 Questions/ = fly A B c
- Dr
S b S T = et o :
1. | which symbol represents the copyright © 0 679) ®
protected product? :
tag is used to underline a text. ,
B A T
+ | Which of the given is used to read an o - * Crypto -
Softliftin Paten Password :
encrypted message? g /\)}g} graphic keys
S b Byl d Li 8078 ok @
4. | Which tag is used to create a hyperlink in <a> g\o > <hr> <br>
awebpage? .
e F e LT LU e S ks, @
gl . -ﬁ:.t’lalf"/ LT & L afl ‘ ..//:..b_r
' 1Routlng is a process of taking data from \\~\Channel Area Path Netwark
one device: and sending it to anoth N C
device In different____. A@
~~
6. N 2 TCP HTTP ISP SMTP
Intemet service Is provide . :
i <'./l/A+(B C)U'J/"rl Y
’ A. (B. A+ (B+C A.B) + (A.C A+B) . (A+C
! Expression A+(B.C) is equal to: (.0 Pl (AB)+(AC) (A+B).. (A}
cede L 20 AUETEA
8. Number 20’ is equal to in 10110 10100 10011 10000‘-
binary system
-c‘;&//;wylkd/g U:sf«/(g’ﬁ .
9 Sl L ¢4¢«57/¢4_;U' »_C:’:/_: %'}/ .
‘ In a flowchart, symbol E Decision Input/output Processing Connector
represents.
_;,JL‘J’M/,#V(]K/JJ - = ‘L”%"b J
10. ____Is a graphical representation of an Matrix Graph Flowchart Solution

algorithm

25-123-1A-14000 * k%
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Computer Sclence (New Course) $.S.C (9th) 15t Annual 2023 Wil ) e M
Time : 1:45 Hours Group : | Paper (D 24 U;(:.;a:f £1:45.~«:. d:j,:
Marks : 40 Subjective dei et~ <5 2 40 /

Note: Section B is compulsory. Attempt any TWO questions from section C. -éz:f u-"a&'ﬁﬁalﬂrucéf .:_u:f'r,y-;_d iUr;;;q:;:,)

6.

i. Give an example of a paired tag.

SECTION-B (».s

Write short answers to any Four parts. (4x2=8) Y Ty Luzut,c.éf
What is meant by mark up language? "-‘r‘_ﬂ/t_r’/cé,@_(l._fxt

A )

What is the use of processing symbol in a flowchart?

What is the Act it Out strategy? ‘-’;.L/uwc»; J &57_‘31&..{'1
Write two advantages of algorithm. -2_‘54/"»’l§,)£(3;,ﬁ;_
i. What is meant by absent data? ?c"..ﬂ/gc_léhg?;(ﬁ
Write short answers to any Four parts. (4x2=8) ez L"'zug;&'f

Convert (69610),, into hexadecimal. -2,{J.&" S 316 (69610‘_)1.5

-&’grbé//l{’)‘cu“’ﬂgdéf

oé&%o Sl p\ e inks s

What is the difference between Bit and Byte? @C@ ?Q-J/‘_\/uﬂ..‘f’yuh.‘f. .

‘Write names of any four storage devices.

What is meant by truth values?

What is piracy? Given an example. @ Eaete YA
What is softlifting? | @%S e p e BB
Write short answers to any Four part O 4x2=8) ' -«’{_f/./’ I i" Z.»mul,;.&/
Define the hyperlink. oy G4,
Write the code to insert t item in a web page. -ZJU/W-/-‘-«/'!(L.’T—‘)»J@-@:

?‘c,)l/_lf; Lkéf/u{’
-Q_J/.ufoﬂ(d/um}{ﬁ}
Sl S s S SSMTP A

What is meant by user communication?
Differentiate between sender and receiver.
For which purpose we use SMTP?
How many number of layers are there in computer network models. ?ufﬂnifz‘cff v/ ;L._f,,_»,‘:,‘,_{
(WA 08 21 Lir ) fr o
SECTION-C (Each question carries Eight 08 Marks)
Define a flowchart and write its advantages and S 3 L% é_&,/‘?&w(!,h

disadvantages. (8)
Write a note on different components of _gﬁ_,;,,‘;fﬁgf’—-’j/f—",“f
! communication system. ®)
-Wri_fé a note on the following. (4+4) _g ..*.J/'(_i Josnr
Copyright <A ,Q(
Sabotage UJK&-’J;

25-123-1A-14000

CeJei e S et

}2

i
i
i
AV
vV

i

-3

™
i

>

;



Roll No. [ ] 1 (/. 4:?4!:«*1)
Computer Science (NewCourse)  8.S8.C (9th) 1st Annual 2023 (uofz) wﬂuﬁwﬁ
Paper : | Group : Il Objective (s e ,.f,f s b g4
Time : 15 Minutes @D 2> 15 Ay
Marks : 10 Paper Code J 5|8 3‘ Sml =22 3 0% A

'~

_é,/a,u_% gLbf-mdb&qzulmu‘u,/bia,ébédlrﬁz,an}ww,uzé&., Dus C,B Auw,ﬁzyédu«,

—1)

'ﬂu" WAL uflr(.)f-uu"(jz.—fzfuv k L/Z fuslbuhzé_\.—(l ; :
Note: -~ You have four cholices for each objective type gquestion as A, B, C and D. The choice which you think is correct; fill that circle in front' of that .
question'number In your answer book. Use marker or pen to fill the circles. Cutting or filling up two or nfdre circles will result no mark.

SECTION-A (.=

w*

D

Qi} ' Questions/ =iy A B C
-ﬁ'—.(}‘gJaﬁ/‘j‘J&j"—)JJ{J)’Jik" SK d/&_.z;,/” ot IJQE/
1. | The process used for encoding data is Encryption Sabotage Patent Copwght s [
called_____ »
-c.f}c—J“(j/"'/t gf’;il IPvé4 . . ~"_‘
2 | The IPv4 address Is made up of 31 29 32 '30 ks
_____binary bits.
3 i ‘E'/U&L‘“ﬁ 1024 MB 1024 © 1024 GB 1‘024"TB‘ :
" | One mega byte is equal to: i %
AL (A+B) .(A+C) F 5 . {ﬁ o
I ) B4+C) -
4 Expression (A+B) . (A+C) is equal to: A+(B'c)@§® B+AC AL A_*"fB*C)
pa) - s
5 u.?___rl)'ld/&;‘._ué @b 5 . 9:
" | Test data has types. @ ' o
P AR - B P
?dfkq—’ﬁftfe’””ﬂfq—»«”’f L‘ﬁ"éd/..’ r‘{/,ﬁl ik -b/‘g:f’
6. | ___means to test if the d | Verification Algorithm Validation Flowchart -
solution is there? _ el
&S Y3 “Pakistan” £ 3 J¢ HTML ®
7. R -‘G‘?ﬂdw"éﬁ <i> <b> <u> <br> ‘
In HTML, tag is used to print the :
‘word.‘Pakistan’ in bold.
(b e G E e i fsit g S L S
8. | An individual list item can contain | Ordered list Unordered list | Nested list Defination list
-another entire list called:
b LA T L i
9- ‘ —q—t"f‘l{rJ‘P‘/‘ 5JJJ£ G,b.(.ﬁ 5/!’(; J//)l.‘.g: s s
is used for authenticationto entera | ~ Password Webpage Keyboard Network - "
| system. ot
10 : -q}’Lﬂ'(ﬁ‘ﬁTI P e SV, (/IJJ&«;;’ P )’[)’;4 /‘/‘;:;{ . ;
" | Routers connect multiple____together Networks - Channels Protocols Computers

26-123-1A-15000
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Roll No. (e S 357 Al

ompyter s‘ﬂeﬂﬁe (NewCourse)  §,8.C (9t) 15t Annual 2023 WD g s
Time ¢ 1:45 Hours Group : (I Paper (D 24 1/ :.79/’ 8145 )
Marks : 40 Subjective (}lﬁl 40 : /{ «

sl =0~ 3

Note: “Section B is compulsory. Attempt any Two questions from section C. EFenrletrneldia iy o e Sl i)
. < e .

SECTION-B (».»

2. W,rlt@""short answers to any Four parts. (4x2=8) “ZE7 Sy éf'z’l‘gc—&f. '
i. Narrate the importance of testing. -"?:UE’-%'J-*&'-" "i
ii. What is meant by identification and correction of errors? °<—"/J<-'-<3/JM'L«WL"JJ5U"' i
ili. Differentiate between input and output notations in an _éuuu/u*u,fu;‘f_,u,u,n_/ulg'r‘{ )F!
~algorithm.
iv. Draw a flowchart to find the volume of a cube. . ,’@L'/.;dlgﬁﬁ_/(}‘”(?(v}f
v. What is meant by a hypertext? ?4-1'/&(<—~—‘—~gfv/9 v
vi. What is':méant by content formatting in HTML? ?C‘-”/.V/c-—uéfzﬁwufHTML .vI‘
3. Write short answers to any Four parts. (4x2=8) -éf.f .;-,yz/“?IL,v'zmg;_Jf -3
i. What is meant by number system? C‘L,t/g;,rusjdm
i, ASCII stands for. "4--—337 KU ASCH i 'i&
i, Cdér:,hpare volatile and non-volatile memory ﬁjj}/”" JIW”U‘:/"JJW” '-i’“ : A . iI
iv. ‘ State the Crofr\};;utative Law ﬁ} g g ;
v. Define piracy. ; @%{& -2‘1“1—9!/7(5/&/& > i
vi. What is meant by counterfeiting? %S Sl e GLSF Vi ’
4. Write short.answers to any Four parts. ( @ -3_{4 Felis - L;IZI;QL{B?’ 24
i.. Define éom:puter network. < ‘ ~2'=(-ﬁ’/‘jd/v(n~‘-s/):fr 4 .
ii. State the process of routing. o B e P
ii. What is meant by transmission~medium? ?f‘—ﬁ'/‘:'/c'@%’uf;’;'/ i R
iv. What is meant by paired tags? il U= (Paired tagh B v
V. Ex.p‘lain..the différence between hyperlink and anchor. —ég"J}kﬁﬁ'J"bﬁﬂ v
Vi. Describ;e about the nested list. -%{UEJWLVM vi
UL BHLr) fre » e
SECTION-C (Each question carries Eight 08 Marks)
B D_ag_cribé the strategies of planning a solution (8) _gfubc_wuwwﬁu(d,ﬂy&_j’ 5
in detial. :
6. What is network topology? Describe ring ® . Zeolna 1 /WS L GApd Sy fé
topology with a diagram. .
[ 7.  Explain the types of piracy. (8) -".‘3’*‘*’ L""’Jf Uidls LT
i 26-123-1A-15000
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ter Science S.S.C (9th)-A-2022 S snd

' per : | Group : | Objective ('3 » %v,f ' 1t g4
Time : 15 Minutes (i) 15 o,

¢ Marks : 10 PaperCode |5 [8[3] 3 | SoLeCply.  0:

Espe it | LS u‘L,,m.-,M_u:u,;béar,&LLd:f 243G RE LD s, B, A @uzﬂlgédu« YR

Note: - You have four cholces for each objective type question as AB Ca
question number in your answer book. Use marker or pan to fill the

N D T I S
nd D. The cholce which you think is
circles. Cutting or filling up two or

SECTION-A ()i~

VL L/ L fmle
carrect; fill that circle In front of that
more circles will resuit no mark.

Q.1 Questions/ =iy A B c D ‘?
Senbibn 7 & St 6 U"Jj";*— il Cﬂ!”,’dﬁf&/ Lﬂiw/.d-avj irksis)
3 - 0rF 4y
is a type of Boolean proposition Basic Compound Complex Truth values
that consists of two or more propositions. Proposition Proposition Proposition
e i 2 2 1PV LT e ) ;
ddress?
address : . . /{)\
W SEL s e dhdnd ptod | agp @@V) Je6 | L
3. - SO
Protecting data from malicious users is | Data pﬁv@ ata sharing Data Data
called: P distribution processing
N
Jj:'.fltf(é)’c’w&fq~dj UJJL____ W%m il Lﬁ/’g $K5
a. Q
is a process of encoding? EB}iﬁ&enti‘alityz- . Password Piracy Encryption
5 et L NV SR N s
' <br>is tag. A Paired» Singular ! Single Double
nyzIMme UE 2 K HTML g | ¢ A
6| There are of headings in HTML 2 I R 1
document.
S S Ws)itsE L Lot fer ]
" |How many Ws are necessary to 6 2 3 5
understand a problem?
?L»tgwduffc.iftg /;uﬁ'wl’/fcfcf Sl Ji JU“/.LVJ Jo
8. | Which solution is NOT reached through Prepared Condid Strategized | Best solution
propar algonthm planning or work solution solution solution
planning?
(JU‘;’!H'JVQéL&J—’V&;V}:MI(W(}m f)/-// /"//d/L ﬁ'a-//da:)-; /},-//fr
9 ,ufc'y.( __é-q,!r/
| A is the system for representation| Number system Binary Number Decimal Octal Number
of numeric data, system Number system system
|
10. ~&-ad ded (156)10 (100001100). | (100110000); (10011111100); | (10011100),

The binary value of (156),, is:

26-122-A-11500 * %
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r Roll No. (ORI,
] (.'-Qr Science S.S.C (9th)-A-2022 S ,5{
—P‘ : 1:45 Hours Group : 1 Paper (D 24 g .7:; &1us =,
",;fi\/ﬂatks 1 40 Subjective (1 Wie-& | 40: A
S 4 Note: Section B Is compulsory. Attempt any two questions from section C. -aé; /".;,leé.adlfn{.éféuﬂ,fr/,g.didf”/:.‘/}
. SECTION-B ,».»
2. Write short answers to any Four parts. (4x2=8) _c’i‘f'g ez L,Iﬂ/gc:.af -2
i. Write the names of requirements for a Flowchart? 4‘10 (&Lr)l)é&;bﬁ K
ii. Draw flowchart to calculate sum of two variables. -¢L~;L)"&L¢/r}”4/b’vl/» i
iii. What is difference between verification and validation? ?QU/VU'(/AJJ;W"QU/; i
iv. How many types of memory are? Write names. | irt"uf(l)!(f/(fdzf v
v. Convert (7);, into Binary system. | f éd.,gu:(u?dftf(ﬂlo RY
vi. Define the Decimal system. g ,és{' v J(Uﬁ(f;(“/t Vi
3. Write short answers to any Four parts. ' (4x2=8) @5{ Falis L»thga_af .3
i.  Write the name of logical operators. -Zﬁd((:LJ/f./,;U?H K
ii. Boolean values are mentioned in which book? 0(& % } ST U i
ii. ~ Draw truth table using ‘AND’ operator. @% -;QJ’B;}L”L/JU":’I:%/,:I ‘AND’ _iii
iv. Define file transport protocol. @ _éi{qﬁ(fdﬁ%.:u,";l/‘d"ﬁ Jiv
v. Write the working of Router., @ ,éug,._ﬁ AJ Fuowv
& .

vi. How to make network of network YQQJJ:MKU’(»&{ Vi
4.  Write short answers to any arts. > £4x2=8) _é,/ Vi aUﬁ/’g L»lfl/ké&f 4
i. Whatis piracy? Give an example, : X ;2 _ -ﬁ')dlf'dr&ﬂp’&/’g i
ii. Write an example of good password. ' : ;if‘;dwd;,,ugé;.,{f i
iii. Which tag is used to add picture in HT&AQR;\Qe also write JW!JLU)’&LLQ/:UU’&-J; il

its attribute? I Z//’(Attrlbute)wZLS/I!./JVLL"
iv.  Which are attributes of table tag? ?Lﬂé’—u}'wzfé/"és—cw Jiv
v.  What is meant by paired tags? ?q,:!/f/éug’(Paired) ) Y
vi. Write names of any two Web Browsers. ..g(bz—ﬁil/.«.._g)»:_&f Vi
(LA 085 Ly ) droe
SECTION-C (Each question carries Eight 08 Marks)
5. Whatis problem analysis? Write four advantages of abtﬁj»uu!}/l'mf..w(gﬁ?q..ﬁ/.tf:;gf.’éy 5
flowchart and two disadvantages of flow chart (2+4+2) _ﬁg Yy
6. Define Topology, write a note on any two Network j:’?.b).ggl’ydf;ungafﬁéq/dd}y _6
Topologies also. (2+4+2)
7. Whatis cyber crime? Write a note on advance fee _é.b)/,;fgul )’l)u’fu)l;é!?q__p’,ilfjb 7
fraud and hacking. (2+3+3)
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| RollNo. | | [ 1 T ] rabned
Computer Science S.5.C (9th)-A-2022 Flted
Papgr | '\?r:gup a [ Objective K;ﬁ ayer ‘7’/ I g4
Time : 15 Minutes '’ Gin) : L5 o
Marks : 10 L J Paper Code l 5| 8 |3 6 I Sw‘,- C,)!.,u_b 10 : '

et L LML dr e ne s d gL iy ad¥dl UL LD M C,B A ..,W,C',ga.’.dtr a4 =S
{ﬂu" W7 uf#U’uJ)’(S"—o/l/ur L L/.g fu:/lsu{ué v.'(l

Note: - You have four choices for each objective type question as A, B, C and D. The chalce which you think is correct; fill that circle In front of that
question number in your answer book. Use marker or pen to fill the circles, Cutting or fllling up two or more circies wil resuit no mark.

SECTION-A (.o

Q.1 Questions/ =11 A B c D
'(5'4,'-[7-'7;f(/(..*‘hflk'gﬁ,’(l;;ﬂ:‘ /.,".LJ{L;"
T S Y0 ) |
LU All the characters on the “Keyboard” Unicode BCS ASCH BCD
have some binary codes those codes are
B A 11T — '
Lc" L“:’(]}LJUI.}:?}'J[;‘)L', ‘_'(' & J IS % ' _ x
e AT Pt [ EasaE] Eisadit | GigseiS
.
Z. v :
is used to assemble more than Boolear Categorica( Moral Compound
one propositions into one proposition_ PI’ODOSitiOﬂ PfopOSltl@ 3 prODDSitiOn PI’OpOS!thI’\
O
b b b - .y r A
| el L e L2 Bt Lppnh | LS
3. ce bbb Jecn 0 2 é\@) |
' The is considered as the most well File shaw Internet Hardware Application ‘
| known example of network of networks. sharing sharing
| - e Lk e St able b S V@ﬁ.) o ¢ < ; ;
=3 Wttt e 125 @ ~ HE =/ i
_;‘;lrf,:t,;_ ___c,li,i_;(_:_v /,(lpf/_,_ 3 &
4, ] : '
A computer expert who can st Hacker Encryption Decryption Patent
when it moves from one locati ther
i s called _
g e A e | g M A s
Which of the given is a cybercrime? Encryption Hacking Decryption Debugging
<..-L-" AL)L"/,&"' { |
6. The _______elementis a containerfor <body > <head > <title > < html >
meta data.
,4,.L"Lu- .__.L....,J s~ _Alff /J \_ﬁ
TEITRE S - tag marks starting of a e <pg> g3 e
L ,paragraph
| % lu‘f‘lgc‘_u’.s‘dﬂ,,}"’"U'fr;_;__rw’h’ uj (515 '(ﬁuét cﬂ};b _.'uliyu
B ______ means to test If the required | erification | Algorithm | Validation | Flowchart
- 5 solutionis there. o _‘ : ‘
; ,T"V\UH (,J ‘.’;‘_’—/("(JJ‘){IIH U’U ‘(J‘ ~‘g-"; : UL:/; ;({ u‘:/’/v ’U“
I 9. which symbol in the flowchart is used to , L
| P - Terminal Cannector Pracess Decisian
!_M,_ - either startor end the flowehart? o |
& Jme
1 R 12 W ST S :
| 1OJ n Linary number system “17" is equal (10000) (10110) (10001) (10100} J
i fto___ . _ N

27-122-A-10500 % % *



Roll No. ‘ }fﬁ-Tm—J (;/Z)};lu,/f)

Computer Science S.5.C (9t)-A-2022 | u"ﬂ,}&.{

Time  : 1:45 Hours Group : 1l paper (D 24 (/3 ;;A/ s =,

Marks :40 . Swiecve Ol G4y .2y 40: <

Note: Section B is compulsory. Atlempt any two questions from section C. E L Mr Ly e b ety g ilpnsis)
SECTION-B /».»

*2.  Write short answers to any Four parts. (4x2=8) _éifg/’al,lﬂ/ﬁ’é;fﬂ;fg&,(}f .2
i. Write down an algorithm for a simple problem of -gl—[a/;/;ﬁl%’za:bygi.&fclﬁ ELLUJ{IZ N
wearing shoes with socks. A
i, Write down any two properties of a flowchart. -éug.-,_u}"»uéfdgg;ﬁ i
iii. Write down any one difference belween algorithm énd flowchart. é‘::ut d),ﬁ&fuﬂwb:ﬁui,} I
iv. Convert (010111); into decimal number systern. ' éJ £U-ABELA7(010111), v
v. Write down any two names of storage devices. ' é LL/U;C u”»adf WV
vi. Define hexadecimal nUmber system. LA d(‘//,j "3 L,_Cr Vi
3. Write short answersi{g'any Four parts. (4x2=8) . @zjgwt/#[,dzl&;éf -3
i Draw the truth table}f“o?r "OR" operator. @ ,g:'.,led/*:if;/".:."-é/f./,ﬂ “OR” i

ii. Define Boolean expression: : @O ,a’-,f,_g‘:/-TJ‘/;.f;élc)ﬁJ:f i
<3 Sl e Lifig bt i

i, What do you mean by compound proposition? @
E b TU AL P v

iv.  What do you know about internet?

v, Write two examples of IPv4 addressi ard, _2‘-.::4,,;’(,}1)&';;0'3!’(}/3/.22'/&,,Ql IPvd v
vi  Whal is communication channel 1y /f(j’-‘fj’—'é’ / Vi
4. Write short answers to an parts. (4x2=8) cé//’..«“i/[.»l/bbédf 4
| What is soft fiting? | ( Ce P Bl
ii. Whatis cybercrime? . ‘.‘q__(/ﬂ//{/ i
ii. Write a code o insert hyperlink on'web page. -él)’fb’i—ﬁ;@/ﬂ/,(‘;_’__,g; i
iv. Define paired tag. ,éqﬁ&.{‘ (Paired) S/’:;. v
v. Why web browser is used? ‘ ?4.L~Wdu"“tu‘,{,;5uh,/_; v
vi_  What is difference between tag and element in HTML? ?éd}l_fui.'):&fuls.{;LﬂHTML Vi

' (ui/ 08 }rTLdfrﬂ) lrs
SECTION-C (Each question carries Eight 08 Marks)

What is meant by test data? Explain «mportance @ z;_(‘:u M‘JJL’ = /;(jvt,v.(‘é_,;/uéc [ 5

Ci

af testing with example?

6. Whatis TCH/IP Protocol suit? Write note about .éf..‘«)/,df,j;/,nc_d;"?cl-Lfd/rdf;;/,TCPHP 6

(2+8)
any two protocols.
s oy R ‘
7 Define software piracy, also explain any E e 7 O d;&mziﬂj ﬂ(joj/L/,JL 7
three types of software piracy. (2¢6) '
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Time
Marks

< el & mal

: 15 Minutes

by’ Aadiadiaiing

o]

@

w )

' d

: 10 Paper Code

5|8

3

1

Swe-§i1-2.

’i""
L2 15 2

10: A

A LSt d g e ne St E sty p Q802G A EEs Dl C, B AMELLLly g -2
_(!TJ!‘T}";;(UT uf‘i’utv.'au’(jd——//:/&g L L—/(f, f‘J)/"JlJLiéug

s

Note: - You have four choices for each objective type quastion as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

QA1 Questions/=i s A B Cc D
- 3
el B AL oM IPV4
1 The IPV4 address is made up of Binary 31 29 32 30
Bits.
UL Al d,g;séﬁ"/c?f",;/
2. Basic components of communication system 2 3 5 6
are:
,é‘»dl"’/u,/?{(jLSJf:JW” dudf,f ﬁJ (‘}J JﬁJL
3. "
Best example of Volatile memory is: usSB RAM ROM Hard Disk
a7 /utﬁ’/ GAL
4. . 10000 10110 10001 10100
In binary system, number “17” is equal to: 09
/~§ N
>/
e Ol SIFIL e o @O
5. <Scr> s ic> <im> <img>
in Hyperlink images are define with tag. W/@
,q.b'mffwég(g/,é'g/»i—/ﬂ/,gﬂ.bffdb._ﬁ @f K S J.I(ﬂdé.l
6. A specific text, by clicking on it bring you to O;;yperlink Text Table HTML
next page is called: PRN '
\) ¥ Z 3
-4@&7?&,}'! 7194 L 2K Lok
7. The Encrypted data is called: Password Plain Text Ciphertext Secret Text
b P S S8 2 ¥ mY {IF psrd ol
8. A person who gain illegal access o a Hacker Network . Computer Authorized
computer system is called: Controller Operator Person
_UZUVI/JLL,/JJ/
9. 2 3 5 7
Total steps of problem solving are:
v (S I UL P P 5 o s L 2l
10.
Which symbol is starting point of an algorithm? Input Goto Set Start

e
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RoliNo.| | | | | | |«rainel

Computer Science $.5.C (Part-)-A-2021 Sk
Time : 1:45 Hours Group : | Paper (D 24 »lk;:a,{:f 50 =
Marks : 40 Subjective (I SLlrCle | 40 A

Note: Section 1 is compulsory. Attempt any two questions from section Il. ,é; /’ al,txLaﬂlx»aé?'gu:r».ﬂ,4.-6J£!dil/:.bi

(Section -1 Jil.#)

2. Write short answers to any Four parts. (4x2=8) -é{ 7 .:.«Uz/y L»Iﬂ;ﬁ;¢&f -2
i, To understand a problem, What are five questions (5Ws) UL f (BWs) oﬂlfégéééf‘f}’/ i
ii. Define algorithm. -éqﬁdr“;ﬁl i
i. Whatis meant by decision making? Sl Gl i
iv. Write the use of connector symbol in flow chart. _Zdb“‘"lb’uﬂfd}gfw@w v
v. Which tag is used to make a picture as a hyperlink? ?(‘,L‘ﬂdb";’lwgbufé,éé,hu@/;(,fgﬁ v
vi. Which tag is used for head section in HTML? S bl lu_ébdfé’,i.c?é LUSHTML i
3.  Write short answers to any Four parts. (4x2=8) ,Zé:_' 7 .:«Llﬁ/’g Lz bgd_{}i' -3
i. Define the non-volatile memory. édﬁéd;/ﬂf&ﬂ»c)b d
ii. Convert (156)yinto a binary number system. @@ é_id’ yd"((ﬁidlﬁf(156)1a Ji
iii. Whatis meant by binary number system? f sl sz,rﬂu(jmdl, i
| | 2 @ , .
iv. What is meant by AND operator? @ Sl e fisl AND v
v. Define Softlifting. 5%5 ,éqﬂdv@&b v
vi. What is meant by trade secret? @ ?q;f/yéjb&? i
O - 7
4, Write short answers to any Four parts; (4x2=8) _é4,2.-44z}"£,fza,g4,df 4
i.  Whatis application sharing? ith the help of an example. ,éil,‘cdtﬁ-ugi?%,l/y&f/’?u"{o‘@ A
’jﬁf‘
ii. Whatis meant by message in data communication? Sl plf e pliglie -“,:.IL‘;S i
iii.  Whatis TCP/IP protocol? ?4,1._[4)9’;;/.,. TCP/IP iii
iv.  What do you know about Router? ?J’Z,Lay.?,-Tu:L,JLL 75 v
v. Whatis meant by Head Section in HTML? Ll Lra,c,‘r-c LUSHTML v
vi. Write the procedure to create a Hyperlink to image. ,égf;b’)?jgi.tﬂu@/.;k 427 i
UANLr ) 12
Section - 11 (Each question carries 08 Marks)
5. What is meant by planning a solution to a probiem? Write in detail. ,éé}r:,d.“u?é‘:.;l/ ‘sz_(j,é:,,f“"(jd'é.l’/ 5

6.  Whatis TCP/IP model? Describe its five layers with B L sl p0E U el el TCPIIP 6
their functions.

7. What is cybercrime? Explain its any three types. -écﬂwcjr(}luf Jafé’l Sty l_fc;rfl//.-'b -7

. / 26-121-A-18000
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RoliNo. [ | | [ [ T 1G/%ibed
Computer Science §.8.C ( Part-1)-A-2021 Wl
Paper : | Group : i Objective ‘5’ Y i l/n:.,,;f | B2
Time : 15 Minutes (i1) o2 15 Ay

Marks :10 - PaperCode |58 |3]| 4 ‘“! —az.z, 10: A

Aol LSS L AT e U UsibZ 2 sty 14888126t E s Dol C,B,A Mz BNl g -2

Kt ufl'U:aJ}‘LsL/ZJ/&V L Z_-IZ, fU)//buLJd—ugl )

Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

QA1 Questions/=lly A B C D
44.&'3 pDHcp | Data Hosting Dynamic Host | Dynamic Host Dynamic Host

1, Computer Computer Configuration Common

DHCP stands for: Protocol Protocol Protocol Protocol

,Uf‘.Ll}"Utuefrf et st JJ}J/{.: e ﬂuf:f J/’:‘

2.

Routers connect mulfiple together. Networks Channels Addresses Layers

P Z P @ -
ve i AT et e /l A Gabest ks

3.

In the given, which is not a cybercrime? Hacking @s}rﬁg crime identity theft Decryption

<

L

,éuﬁdi(53udg£’£l<_fuf¢uﬁut cj@%\g}g ﬂ;f4 (13 4;.&7%/,‘.3;/4,2 /,rbél'a/ﬁuug

4. @@ +J

In the given, which is not a characteristic 0 >\° An eight Does not contain Contain Password is
good password? characters long username uppercase letters| your name onl
,c‘,‘rn‘db’y : 'ﬁ[‘f;lb‘é
5. <title> <p> <hr> <br>

The tag which is used for paragraph:

,QJL“/JJ/‘ £
6. <br> <p> <body> <head>
Example of singular tag is:

,4.&'/(7!/}}“995’ U:ﬁr‘duﬁ" J‘/ d}“’/‘ &;&’T ,g].?
7.
An algorithm produce a defined set of: Steps Terminal Output Analysis
,q,&ﬁdupfwuié—ér(fwl Wl JLFTU:C‘/J&), d{/‘ }Qf (jf ijfg
8.
in flowchart, symbol is used for start and end: Terminal Connecter Process Decision
RS EF PS8 AIBE NG IS4 e 2 4 A
9. In primary and secondary storages, data is Bit Byte Word Character

stored in the form of:

LT et
10. 10000 10110 10001 10100
In binary system, number “17” is equal to:

|
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* Roll No.
$.5.C (Part-1)-A-2021

- Computer Science

Time : 1:45 Hours Group : I Paper (D 24 !/»:_{:f &5 0 s
Marks : 40 Subjective (I S”"'SZL!L! 40 :

’ (c_—//f,)}ﬂ:gf) ‘3

st

p

Note: Section | is compulsory. Attempt any two questions from section 1.

’ (Section -1 J3l.#)

Pz P L e §F

2. Write short answers to any Four parts. (4x2=8)

i. Define Algorithm.

iil.  Whatis meant by trace table? Sl _[:(L(,}.é{/'/‘
iii. Whatis meant by problem solving? ?gﬁ/(;”az;fd’)’/
iv. What is the purpose of using the process symbol in a flowchart? ?4(}ﬂdupléiﬁ?ufuwéu’/;4uf-&zgﬁ
v. Whatis the difference between hyperlink and anchor? ?qd)l_,fu‘lzg—lul..ﬁ/ﬂ

KN sy
& 7z P Lanie F

@ Sl pbn L{)"//
o)

it AL Sl

vi. Write the procedure to create hyperlink to image.
3.  Write short answers to any Four parts. (4x2=8)
i. Whatis meant by number system?
ii. Write a note on Binary Number System.
ii. Whatis meant by AND Operator? Sl o e 4l AND
LGS s g ol §FF Sl
oy FE I L3,
,é’ld..:«)ufc—/@é/"fb//':
,é4/’al,l£/’;zé,mh{g¢éf
,éugﬁévﬁw:b:-/
‘74,——820!{01}/5L§J’¢:’/”5{
-é'.:d'/:;/,(FTP)dﬁ:/,.bugjl/’JB
Sl p O i U
‘.‘(‘,)l/l_/cugc.’;&yfffut HTML
?zrt-/dux’wf’auféiéjalﬁﬁutyﬂ; HTML

iv.. Whatis the difference between Volatile Memory and%S@

Non-Volatile Memory? @
O;

(4x2=8)

v. Define Hard Disk Loading.
vi. Write a note on Ceaser Cipher.
4, Write short answers to any E S.
i. Define computer network.
ii. Why a computer network is needed?
ii.  Write a short note on File Transfer Protocol (FTP).
iv.  Whatis meant by receiver?

V. What is meant by Content Formatting in HTML?

vi. What tags are used to write paragraph in an HTML

document?
Section — 1l 9.
(Each question carries 08 Marks (L ##TLJlv 2)
5.  Explain in detail defining a problem. , ,.»f.-»w&‘”éu:’%%
6. Define data communication and describe different componentsof a L f"'/ Jf“";//: é ._g/7 (5 ‘f—é'r./ 73]

-éwb:&lﬂafg
a8 P 4 1SS i

communication system.

7. Explain the importance of Encryption for everyday life on the internet.

Vi

£, v a@lzéaﬂlr»céf.:—u‘-'(»/,q_d Aditsi2d

-2

Vi

-3

Vi

A4

Vi

-5

-6

7
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